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B EERHEERE (N FEAFRE(N) EAFEE(N)| BFER |MEREZE% ABARKKABFELELRE RAFEE | AREREE
4H30A 304 6 5 1 1.97 1.64 1298 8 17 0.62
5H831H 324 7 2 5 2.16 0.62 1253 13 13 1.05
6H30H 316 11 6 5 3.48 1.90 1300 14 17 1.09
78318 310 16 4 11 5.16 1.61 1345 6 17 0.45
8H31H 307 7 3 4 2.28 0.98 1367 11 16 0.81
9H30H 316 12 1 11 3.80 0.32 1227 10 15 0.83
10A31H 259 2 1 1 0.77 0.39 1239 9 8 0.73
11A30H 340 13 5 7 3.82 1.76 1187 10 21 0.86
12A31H 232 9 4 5 3.88 1.72 1287 10 18 0.79
18318 320 12 4 8 3.75 1.25 1201 11 24 0.93
2H28H 301 12 3 9 3.99 1.00 1069 8 17 0.76
3H31H 311 12 3 9 3.86 0.96 1178 7 11 0.60
2021 117 10.1 0.79
20205 3.00 0.95 8.83 0.69
20162F 2.18 0.90

HERER (%) =REAEERFEER —RNREBER FAETBAREERLH X100
ARE (%) =HEABERABEN NEBARBERE <100
ARIRER (%)= AMRERY  ARMAREERYE — AREEHABREREBELR x100
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